O, o tematics

Jfo #Band a® = 5a - 3, B*=5p - 3, thenthe
equation having o/p and B/« as its roots, is :
(a) 3x% + 19x + 3= 0 (b) 3x* ~19x + 3=0
(©)3x2-19x-3=0 {d) x> -16x+1=0

Jdfy =(x + 41+ x2)", then

A+x )-—¥+x%13
(a) n’y (b) - n’y
© -y (d) 2x%y

JIf 1, logs (3 + 2), logg (4-3° - 1)are in AP,
then x equals :
(a) log, 4 (b)1-log, 4
{(c)1-log, 3 (d) log, 3

. A problem in mathematics is given to three
students A, B, C and their rcspectwe _Frobabihty

. 1
of solving the problem is 2, 3 an nd 7
Probablhty that the problem is solved, is :

(a) 3/4 (b 172
() 2/3 (d) 1/3
. The period of sin® 8 s :
(a) w2 b)n
(¢) 2n (d) n/2
. m, nare the pth, qth and rth term of an GP and
leg! p 1
all positive, then [logm ¢ 1|equals:
logn r 1
(a) 3 (b) 2
1 (d) zero
fim YL €05 2X
x =0 \/E x
(a) & (b)-1
(c) zero (d) does not exist

. A triangle with vertices (4, 0), (-1,-1), (3, 5) is:
(a) isosceles and right angled
(b) isosceles but not right angled
(c) right angled but not isosceles
(d) neither right angled nor isosceles

.In a class of 100 students there are 70 boys
whose average marks in a subject are 75. If the
average marks of the complete class is 72, then
what is the average of thie girls?

(a) 73 (b) 65
(c) 68 (d) 74

10. cot

11.

12.

13.

14.

15.

16.

1 (Jeos o) - tan! (Veosa) = x,

sin x is equal to :

(a) tan? [%]

(¢} tan u

then

(b) cot? [%]

(d) cot [%J

The order and degree of the differential

a\¥?  dy
+ 3 a] =4 a'x—- are

equétion [1
2

(wbﬂ ® G D

© 3,3 (M) Q,2)

A plane which passes through the point (3, 2, 0)

and the line “—— =2~ =

(Qyx-y+z=1
(x+2y—-2z=1

M x+y+2z=5
(d2x-y+z=5

: g e e
The solution of the equation El =e®is:

3
2x -2x
@ 4 OR
(c):li'e'z"+cx2+d (d)%ez"+c+d
: [xz + 5x + SJX :
lim | —5———=1 isequalto:
xow |\ oxC + x4+ 2
(a) e (b) &
© ¢ (d) e
The domain of sin™* [log; (x/3)] is :
(@) [1,9] (b) -1, 9]
(© [-9, 1] (d) [-9, -1]
The value of 24 . 41/8.8Y1% o is:
(a) 1 ' ) 2
- (c) 3/2 (d) 4

17.

18.

Fifth term of a GP is 2, then the product of its 9
terms is :
(a) 256

(c) 1024

10 7 :
_[0 “ | sin x| dx is:

(b) 512
(d) none of these

(a) 20
(c) 10

()8
(d) 18



tan" x dx, then lim n{l, + I, 4]
H—a0

19.5,= [

equals :
@3 ™1
(c) o (d) zero
20. Ioz{xz] dx is:
(2) 2-2 (b) 2+ 2
©VJ2-1 (d)-v2-+3+5

21, {" dels
-t 14 cos®x

(@ %- (b) n?
() zero (d) %
22. The period of the function

flx)=sin* x + cos* xis:

(@ K
(€) 2n (d) none of these
23, The domain of definition of the function

{ Y
flx)=_|loge [Sx 4x ] is:

(@ [1, 4] (b) [1, 0]
(© [0, 5] (d) £5, 0]
24.If sin y = x sin (@ + y), then % is
_T_Zsin a (b) sinz‘(a+ ¥)
sin® (a+ y) sin a
sin? (a y)
(c) sin asin? (a+ y) ()= e
25. If x¥ =77, then % is:
1+ x —log x
(a)1+log_x ()1+logx
{(¢) not defined (d) ——-—-l-qu—z
(1 + log x}
26.The two curves x°-3xy?+2=0 and
3xty-y*-2=0:

(a) cut at right angle (b) touch each other

(c) cut at an angle —g—, (d) cut at an angle%

27. The function f(x)= cot™’ x + x increases in the

interval :
(@) (1, ) (b) (-1, «)
(c) (-0, ») (d) (0, =)

28,

29,

30.

'(CJlog[,,x
x"+

31.

32.

33.

34.

The greatest value of
FOO) =+ DY = (x-1)"%on [0, 1] is :
@1 (b) 2
©3 (d) 1/3
Evaluate ‘[w L c dx
o Jsin x + Jcos x

T T
(c) zero {dy1
I —(-_“WT) is equal to :

X (x +
(a) = 103[ 2 J +e

"1

{d) none of these
The area bounded by the curve y = 2x ~ x* and
the straight line y = — x is given by :

{(a) % sq unit (b) % $q unit

(©) % 5q unit (d) none of these

The differential equation of all non-vertical
lines in a plane is :

d*x
—~0 - -0
(a) G o7
v e (t:_.
((.) "_[_—*0 . (d} a‘y——o

Given two vectors are i — j and i + 2j the unit
vector coplanar with the two vectors and
perpendicular to first is :
1 2. x =
(@-—=(0+] (b -= @i+ D
72 } J_ J

(i+k) (d) none of these

(c)i%

The vector i + x j + 3k is rotated through an
angle 0 and doubled in magnitude, then it

2) 7+ 2k. The value of x are :

{2}

D12, 7}

becomes 4 i + (4x —
NEE
o



35.

36.

37.

38.

39.

40.

41.

42.

43.

A parallelopiped is formed by planes drawn
through the points (2, 3, 5) and (5, 9, 7), parallel
to the co-ordinate planes. The length of a
diagonal of the parallelopiped is :

(a) 7 unit (b) +/38 unit
(c) V155 unit (d) none of these
The equation of the plane containing the line

o0

[ m n
alx - x,)+b(y -y +c(z—2)=0 where:

P
Lis

(a) ax; + by, + ¢z, =0

b a +bn+cn=0

(D Ix; +my, + nz; =0

A and B play a game where each is asked to
select a number from 1 to 25. If the two
numbers match, both of them win a prize. The
probability that they will hot win a prize in a
single trial, is :

1 24
(a) 2% (b) 25
2
(© 2 (d) none of these
If A and B are two mutually exclusive events,

then : _ _

(a) P(A)Y< P (B} (b) P(A)> P(B}

(c) P(A) < P(B) (d) none of these

The equation of the directrix of the parabola
y*+ 4y + 4x + 2=0is:

(a) x=-1 (by x=1

(Qx=-3/2 (d) x=3/2

Let T, denote the number of triangles which can
be formed using the vertices of a regular polygon
of n sides. If T,,,; = T,, = 21, then n equals :

(a) 5 (b)Y 7
()6 (d) 4
Inatriangle ABC, 2casin (e 3_19 isequalto
(a) a* + b2 - ¢ ®) A+ a - b?
(@b~ -a (d) ¢ —a® - b*
x - 3Y"

Forx e R, lim (——] is equal to :

xvn AX+ 2
(a)e (b) e
(© e (dy &
The incentre of the triangle with vertices

(1, +3), (0, 0)and (2, 0) is :

(a)(l,% (b)(g, 715]

44.

45.

46.

47.

48.

49.

50.

51.

m[g, i;’—] 3%]

Ifthe vectors_ﬁ,‘g and € from the sides BC,CA
and AB respectively of a triangle ABC, then :

(d) [1 ,

If @ is an imaginary cube root of unity, then
1+ o- o’y equals:

{(a)128 (b)-128 @
(c)128 ©° (d)-128 0°

6i -3i 1
Ifl 4 3i -1{=x+iy, then:

20 3 i
(Ax=3 y=1 M x=1 y=3
()x=0, y=3 (d)x=0 y=0
sin?0= by 5 is true if and only if :

(x+y)

(@x+y=0 by x=y, x=20,y=0
©x=y (d)x=0 y=0
The radius of thge circﬁe passing through the foci
of the ellipse ;C_G + );— =1 and having its centre
at (0, 3), is :
(a) 4 unit (b) 3 unit
(©) V12 unit (d) ?2 unit

The probability of India winning a test match
against West-Indies is 1/2 assuming
independence from match to match. The
probability that in a match series India’s second
win occurs at the third test is :

1 1

@ Ig (b) g

(©) 3 (d) 3

If (@ 1) is a cubic root of unity, then
1 1+i+e? O

1-i -1 w? -1 |equals :
4 “1+eo-i -1 |

(a) zero (by1

©i ) ©

A biased coin with probability p, 0<p <1, of
heads is tossed until a head appears for the first
time. If the probability that the number of tosses
required is even, is 2/5, then pequals :



() 1/3 b 2/3 @—* Y

(c) 2/5 (d) 3/5 V1=Ya Xy =X,
52. A fair die is tossed eight times. The probability A . .
that a third six is observed on the eight throw, is : 60. If the vectors @ = x i + y j + zk and such that
7 5 7 3
C, x5 C, x5
(a) ——— 2 s (b) —2-x———~ . _::, ¢ and B form a right handed system, then
7 5 —¥ i
C is *
(c) 267:5 “(d) none of these i Ul
53. Let f(2)=4and f'(2)= 4. Then . ®»e
: O -zi
Xf(2) 2f()sgwenby @i D-zi+xk
--->2 61.The centre of the circle given by
a)2 (b} =2 . L
EC)—4 (d)3: _l‘>'(l+2j+2k):15andl?—(j+2kjl=4
54. Three  straight lines 2x+11y-5=0, is
24x+7y-20=0and 4x -3y -2=0: ) (a) (0, 1, 2) (by (1, 3,4
{a) form a triangle (0 (-1,3, 4 {d) none of these
(b) are only concurrent tan? 15°
(c) are concurrent with one line bisecting the 62. The value Ofm 15
angle between the other two + B
{d} none of the above ’ (a1 () V3
55. A straight line through the point (2, 2) intersects I3 _
the lines v3x + y =0 and v3x —y =0 at the © =5 (d 2
points A and B. The equation to the line ABso - i 4
that the triangle OAB is equilateral, is : 63. If tan 6=, then sin Ois :
(a) x-2=0 (b)y-2=0 ' (a)—%butnot% (b)—g or%
(b=l (d) none of these {c) 2 but not — = {d) none of these
56. The greatest d1srance of the poiat P(10, 7)from : 5 5
the circle x* + y* - 4x = 2y - 29 Ui 64.1f sin{e+PB)=1, sin{u-P)= - , then
(a) 10 unit (b) 15 unit 2
(¢) 5 unit (d) none of these tan (¢ + 2p) tan (2¢ + P)is equal to :
57.The equation of the tangent to the circle (@1 (b) -1
x* 4+ y* + 4x — 4y + 4 = 0 which make equal (©) zero e (&) none of these
intercepts on the positive co-ordinate axes, is : 65.1f y = sin” 0 + cosec™®, 0= 0, then:
(@x+y=2 (b) x + y = 2v2 (@y=0 by ys<2
Kx+y=4 () x+y=8 : (gy=-2 (dy>2
58. The equation of the ellipse whose foci are 66.Ina triangle ABC, a=4, b=3, £A = 60° thenc¢
(2, 0) 'md eccentricity is 1/ 2, 132 is the root of the equation :
R o O (@) ~3c-7=0 () +3c+7=0
(a ) """" 5t 1% 1 (b) =1 . .
z 16 "2 (©c~3c+7=0 (Dc*+3c-7=0
J’ s s thae 1
({:) 16 8 t {RBACOEIEEE 67.Ina A ABC, tan . ko tan C 2 then :

2 6 2 5
() q c barein AP (b) @ b, care in AP
()b, o carein AP (d) ¢ b, care in GP
68. The ecquation asin x+ becosx=c where

. 59, The equation of the chord joining two points
(x5, ») and (x,, ¥,) on the rectangular
hyperbola xy = ¢* is :

¥
e e =1 e
()xx*'xz Y1+Y2 ]c|>wl'r:12+bz has :
17 ot B (a) a unique solution

X=Xz Nn-Ya (b) infinite number of solutions

U A—— {c) no solution
Yit+tY: X+ Xy ' {d) none of the above

X

@




69.1f o is a root of 25c0s® 0+ 5¢cos0—-12=0

T P .
7 < < m, then sin 2« is equal to :

24 24

(@ ;23§ (b) - “%;5“

© 18 (d) - 18
70, tan ! (lj tan ™! (E) is equal to :
. 4 9 -

(a) % cos™! (%] ®) 1§ sin~} (%)

© % tan™! [%] (d) tan™? (_12]

o n
71. X 1:lig'-’—llise.-'qua\l to:
a=0 nl
(a) log, x () x
(c) log, e (d) none of these
e M s Gee 3P Oe2lY
Pl e " equal to

3 4

(a)log (x - 1) (b) log x

-3/2
)

©) x (d) none of these
73. The coefficient of x° in (1 + 2x + 3x% + ..
is:
(a) 21 {(b) 25
(9 26 (d) none of these
74.1f | x| <1, then the coefficient of x" in
expansion of (1 + x + x? + x* + ...)%is:
(@n (byn-1
Qn+2 (dn+1
75. The number of real roots of 32" 7% *7 = 9 s :
(a) zero
(b) 2
(©)1
(d) 4
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